C:# Using the Distributive Property of Division Name:

Solve each problem using the distributive property of division. Answers
1) 441+7 = 2) 290+5=
1.
2.
3.
4.
3) 207+3= 4) 560+7 =
5.
6.
7.
8.
5) 204+6 = 6) 693+9 =
9.
10.
7) 612+9 = 8) 222+6=
9) 486+9 = 10) 190+5=
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ﬂh Using the Distributive Property of Division Name: Answer Key

Solve each problem using the distributive property of division. Answers
1) 441+7 = 2) 290+5= 63
60 3 50 8 L
2. 58
7 420 21 > 250 40
: 3. 69
a 80
3) 207+3= 4) 560+7 = 49
60 9 70 10 >
3 180 27 6 77
7 490 70
: 7 68
8. 37
5 294+6= 6) 693+9 = 54
40 9 70 7 o
' 38
6 240 54 1o
5 9 630 63
7) 612+9 = 8) 222+6=
60 8 30 7
6 180 42
9 540 72 |
9 486+9 = 10) 190+5=
50 4 30 8
5 5 150 - 40
9 450 34 f
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